Miscelanea

Resolver las siguientes ecuaciones diferenciales, algunas de las cuales pueden resolverse de varias formas:
1. (y2 + xyz)y’ +x2—yx2=0.
Cig

2. (1—2x2—2y)y’ = 4x3 + 4xy.
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5. (x +senx 4 sen y) dx + (cos y) dy = 0.
TE
6. (3x2y +e?) dx + (x> + xe” —3y2)dy = 0.
a6
7. 1+ y*) (> dx —e’dy)— (1 + y)dy =0.
a7
8. (1 —cosx)y’ =tanx —2ysenx.
FIE
9. 2xylnydx + (x2 + y2/y2 + 1)dy = 0.
e
10. x+y)dy + (x—y)dx =0.
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11. x2y’ =3y* +2xy, cony(l) = 5

&
12. (x*Inx —2xy3) dx + (3x2y?) dy = 0.
[ 12

13. (cosx + tan y cos x) dx + (sen x — 1)sec2y dy = 0.
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14. (e*seny —2ysenx —Inx)dx + (e*cosy +2cosx —Iny)dy = 0.
[ 14
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x+ 1Dy +(x+2)y =2xe "

& 15

(3 +x2y)dy + (xy? + x3)dx = 0.

& 16

xydx —x*dy = y\/x2 + y2dy, cony(l)=1.

fa] 17

(ye™ cos2x —2e™ sen2x + 2x) dx + (xe*” cos2x —3)dy = 0.

B 18
(x2 +y?)dy + (3x%y +2xy + y3)dx =0.

[a 19

(xy —2x+4y —8)dy = (xy +3x—y —3)dx.
I 20

(ytanx —cos2x)dx + dy =0, con y(0) = —1.

xy(14xy?)y’ =1, cony(l) =0.
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